AB & B #H
SF4E10A28(H)
g i K £ Tk 14 > b—%)L | HDCP vk KAk
B B A0 fEx 45 48 93 28.0 65.0 500
E BB HIE  ERT 44 39 83 12.0 71.0 400
3fz K HE 40 41 81 10.0 71.0 300
AL ®ik F5 39 37 76 4.0 72.0 200
5{iz T8 X 42 38 80 8.0 72.0 100
64z Kiz Mz 43 39 82 10.0 72.0
71z FOEX 43 39 82 10.0 72.0 90
81z B SR 41 41 82 10.0 72.0
ofiz EH {18 39 40 79 6.0 73.0
101z = sEE 42 41 83 10.0 73.0 75
1141 /N 40 42 82 9.0 73.0
1241 it EH 45 43 88 15.0 73.0
134 we &' 39 45 84 11.0 73.0
1441 BE ES 49 46 95 22.0 73.0
1541 AE Ea 45 46 91 18.0 73.0
1641 M BRAER 41 39 80 6.0 74.0
1741 £8 BTLE 42 45 87 13.0 74.0
181 mil EF 46 51 97 23.0 74.0
194 BrTER  [ETE 45 40 85 10.0 75.0
201z 2 B 44 40 84 9.0 75.0 75
2141 FH BE 44 41 85 10.0 75.0
2241 NE X 44 46 90 15.0 75.0
2311 FNl EfE 52 48 100 25 75
2441 PR f0nE 59 52 111 36 75
251 £k MBX 46 44 90 14 76
2611 FT B— 42 44 86 10 76
2711 RE EHE 47 42 89 12 77
281 PN 41 42 83 6 77
2911 L£#E  BA 43 43 86 9 77
301 BAR FH 43 44 87 10 77 75
311 H¥HE B 47 44 91 14 77
321 NTTIE 55 48 45 93 16 77
33fiL FE Z=PMHER 46 46 92 15 77
3441 x5 BE 46 47 93 16 77
351 mE %=E 44 54 98 21 77




AB & R W
SF4E10A28(H)
g i K £ Tk 14 > b—%)L | HDCP vk KAk
361 aA Bih 47 41 88 10 78
374z EK &S 47 41 88 10 78
381 al GEA 50 41 91 13 78
391 AR ER 46 41 87 9 78
404iL e —# 51 42 93 15 78 75
4140 Rk IE# 50 42 92 14 78
4240 = 3 45 43 88 10 78
4340 ZR EA 49 43 92 14 78
4440 =25 =¥ 45 43 88 10 78
LY iva A 1E 47 44 91 13 78
4641 BAx FA 46 45 91 13 78
ATHL RR #BE 43 45 88 10 78
4841 HE BA 44 45 89 11 78
494 NI FZ 49 48 97 19 78
501 BH FE 42 49 91 13 78 75
51 RE %2z 54 51 105 27 78
524 KE 2 46 43 89 10 79
531 gk =W 44 45 89 10 79
54431 HKHE AL 44 46 90 11 79
554 M= B 50 46 96 17 79
561 ARHK B/\H 57 49 106 27 79
5741 Tk FH 53 51 104 25 79
581 BEE HA 45 42 87 7 80
591 BX EX 48 42 90 10 80
601iL 'R HE 48 45 93 13 80 75
614 NTII: 50 46 96 16 80
624 R B 45 47 92 12 80
631iL KHE 8A 59 48 107 27 80
644 aH % 52 43 95 14 81
651 R X 50 44 94 13 81
6611 HFE FE 45 46 91 10 81
671 '/E 45 47 92 11 81
681iL BR EEE 46 51 97 16 81
6911 BE =R 60 56 116 35 81
701 Rifi B 55 48 103 21 82 75




AB & R W
SF4E10A28(H)

g i K £ Tk 14 > b—%)L | HDCP vk KAk
7141 =K E 46 53 99 17 82

7241 BR 82 50 43 93 10 83

73z @R #E 51 49 100 17 83

7441 e BT 56 54 110 27 83

7541 ARid £ 52 55 107 24 83

764z AR ART 52 57 109 26 83

7741 RAR H=A 48 46 94 10 84

784 8% ir 48 48 96 12 84

791z e BEAE 57 49 106 22 84

801iL =% 't 53 53 106 22 84 75
811 b=/ S - 50 46 96 11 85

821 2l BRx 48 52 100 15 85

831 Al Et 54 54 108 23 85

8441 M OETF 55 57 112 27 85

851 ]WE —X 52 47 99 13 86

861iL B EA 47 49 96 10 86

871 IR IR 49 50 99 13 86

881z IR EE 57 51 108 21 87

891 i - 46 54 100 13 87

901z =#F Bt 53 51 104 14 90 75
914 i 54 57 111 19 92

BBE R FE 65 52 117 15 102 120
931 ERA —R 55 58 113 11 102

N R BA E—

N R #mAR —al

N R A <43

N R HH HF

N R YT

N R Lo FF
ABERIL EB7A R 47 42 89 21 68




